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· How do the agents behave/work?
· Turtles currently randomly scatter themselves around the world, “watch” the video that is represented by the patch they are on, and “share” it if the likelihood of sharing is above a certain threshold (different from last week where likelihood was subjective to person). Also belong to groups (not implemented yet).
· Used rates found in this paper http://link.springer.com.turing.library.northwestern.edu/article/10.1007/s10844-011-0191-2/fulltext.html
· E.g. 40% chance a pet video will be shared
· Patches (videos) have their own length, number of times viewed, affect-level, and unique video id. The more times the video has been viewed, the darker the color of the patch. Also now has video-type (“animal” video, “activism” video, etc.)
· Links have their own weights
· Also there is a “chance-of-celebrity” slider added that determined probability that someone will be a celebrity
· How does the overall system behave/work?
· Each turtle has a “recommended videos list” that has a list of all the videos its neighbors have shared with it. If this list is empty, the turtle watches a random video by going to a random xy coordinate. Otherwise, the turtle will look at all the recommended videos, pick the video that the turtle’s most influential friend recommended, and “watch” that video. Then, based on likelihoods of sharing based on the Springer paper, the user shares the video.
· Why did you give the agents these rules?
· I wanted to have more objective rates for sharing the types of videos in order to replicate effects seen in academic papers on this topic. Plus more representative of the average video watcher (rather than generating random preferences for each turtle). Also more computationally efficient.
· Have you developed new measures for the output? Do you think your model currently provides a good description of the system’s behavior? Why or why not?
· See below
· What questions do you have about your model?
· [bookmark: _GoBack]How do I use the “histogram” procedure? I am trying to plot the average number of times a video has been watched by type of video (which are integers). I do have a plot currently but it does not work.
· Briefly list your next steps for improving the model.
· Fix histogram output
· Make it so people can’t watch videos an infinite amount of times
· Have older videos die off and newer ones spring up
· What conclusions can you draw from the model’s output?
· Nothing yet

Reference Link: http://www.sciencedirect.com/science/article/pii/S0747563213001192

https://www.youtube.com/watch?v=BpxVIwCbBK0

http://link.springer.com.turing.library.northwestern.edu/article/10.1007/s10844-011-0191-2/fulltext.html

.

s
G A,
T e ey

EraoERT,

e ot ey
! - .

e
L
R e
o ey
EREn
T ——
T e
B
e e
e e oo e Wl
ey
o L
e
- SR
oG M
e o o e e bt
Rt e
= ———
T

" s e st prcdae am gl e
vt o ot b ey e o i
o e 15 e ooty s
oty ey e o e e ot
< mhiogmodn



